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The fig
for the questions

1. In each of the following statements, one is

correct. Choose the correct one : 1x8=8

(a) The fluid-filled space within a cell and

surrounding the nucleus is known as

(i) chromatin
(i) plasma membrane
(iii) cytoplasm

(iv) nuclear envelope
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(2) (3)

(b) Parki : :
. a-::r(:n. BRes ot s by the 10ss | (e) The vast majority of Native Americans
ain population of cells in the A

(i) heart (i) O blood

(i) lungs w8 bIQ.Od

(iii) AB 'blood

(i) skin (iv) A blood

(tv), brain ( The gene that causes Huntington’s
disease is located on

(c) Which i
is kno '
the cell? wn as the ‘powerh ouse’ of (i) chromosome 3
(i) chromosome 4
(iii) chromosome 5

ondrig
(iv) chromosome 6

(i) Ribos
Ome
(iii) DN (g A typical protein may be made up of a
‘ chain of

(v
J RNA (i) 200 amino acids
(iij) 300 amino acids

(d) Abs
€nce :
hair andofr -plgmentation in the skit®
knoWn s 1S of the eyes in man is

(iii) 400 amino acids
(iv) 500 amino acids

Hemophilia is the most well-known

(i) hemophﬂja ‘ (h)
(i) albinigy, (i) X-linked disorder
(i) oyt (i) Y-linked disorder
C fibrosig (iii) autosomal dominant disorder
(iv) Huntinggo s o (iv) None of the above
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following
{ 4x42
a) Significance of meiosis
(b) Miscegenation
(c) MN blood group |
(d) Partia]

SeX linkage i

ge in

(e) b

Identj
cal and Nonidentical twins

What do
i you
IS humgp gerlzn e-an by human genetics? HowW
Discuss brieﬂyettlllCS related to anthropology”
€ scope of h ics-
uman genetlcs ’1.
2+3+9

4, Wh
at do
et you
Inheritance? Dise 1mean by single factor
of the autosom, 55 the inheritanc tterns
Suitahle o t inheritance

What ig ol

differ fm; Ygenic ip

€erit :
answer With ance? How does it
18]

: alle]
ltable exhsm? Hlustrate you*
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(5)

5. What is meant by population genetics? Write
in brief about the importance of population
genetical research in anthropology. 3+11=14

.Or

Weinberg law. State clearly

s the Hardy-Weinberg

cuss how genetic

in a random
3+4+7=14

Define Hardy-
under what condition
law is applicable. Briefly dis
equilibrium is maintained
mating population.

on some of the morphological traits in

6. Menti
man. Elaborate if these traits are affected by
environment. 3+11=14

Or
«Man is the product of heredity and
environment.” Elaborate your answer with
illustrations. 14
* K *
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